
TABLA DE DERIVADAS E INTEGRALES

h(t) =
df(t)

dt
= ĺım

∆t→0

f(t + ∆t)− f(t)

∆t
⇔

∫ t

h(τ)dτ = f(t)

Derivadas:

x(t) = cf(t) → dx(t)
dt

= cdf(t)
dt

x(t) = f(t) + g(t) → dx(t)
dt

= df(t)
dt

+ dg(t)
dt

x(t) = f(t)g(t) → dx(t)
dt

= g(t)df(t)
dt

+ f(t)dg(t)
dt

x(t) = f [g(t)] → dx(t)
dt

= df(τ)
dτ

∣∣∣
τ=g(t)

dg(t)
dt

x(t) = f(t)
g(t)

→ dx(t)
dt

= df(t)
dt

1
g(t)
− f(t)

g(t)2
dg(t)

dt

Integrales:

v(t) = cf(t) →
∫ t

v(τ)dτ = c
∫ t

f(τ)

v(t) = f(t) + g(t) →
∫ t

v(τ)dτ =
∫ t

f(τ)dτ +
∫ t

g(τ)dτ

Casos espećıficos

h(t) =
∫ t

[0] dτ = c ⇔ dh(t)
dt

= 0

h(t) =
∫ t

[1] dτ = t ⇔ dh(t)
dt

= 1

h(t) =
∫ t

[τ ] dτ = 1
2
t2 ⇔ dh(t)

dt
= t

h(t) =
∫ t

[τ 2] dτ = 1
3
t3 ⇔ dh(t)

dt
= t2

h(t) =
∫ t

[τn] dτ = 1
n+1

tn+1 ⇔ dh(t)
dt

= tn

1



excepto para n = 1 porque

h(t) =

∫ t [1

τ

]
dτ = ln(t) ⇔ dh(t)

dt
=

1

t

Funciones especiales

h(t) =
∫ t

[sin(τ)] dτ = − cos(t) ⇔ dh(t)
dt

= sin(t)

h(t) =
∫ t

[cos(τ)] dτ = sin(t) ⇔ dh(t)
dt

= cos(t)

h(t) =
∫ t

[eaoτ ] dτ = 1
ao

eaoτ ⇔ dh(t)
dt

= eaoτ
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